HUR(L) z51 — HEBEA T Bil
EENFR AR ESRT FE #1255 BA CHELIC PNEUMATIC

O REfHEIEE

-
|
i i
|
i
|
q
O FEFE
=y =| £ = (mm) @25 @32 \ 40 \ @50 263
1EEIZK HEh
fERmEE EIRBEZIZERE RSO - VG 68)
= 1=1:9)] kgf/em’ (kpa) 100 (10000)
fEFEEEE kgf/em’ (kpa) 5 ~ 70 (500 ~ 7000)
EEETTIZ mm 9 11 13
TRE1TR2 mm 13 15 17
FIREME [rE=]
hEdEAE 90%*2"
HEdE 75 A T4 (BAMA)-L 7% (BEAA)-R
CEER
R 1% @25 232 240 @50 263
EE kg 13 1.7 2 3.2 5.1
O ETHEFBITEE
- C_ 5 ) x -
l
[ mamE | [ mEacre | [ BREK |

|

25 - @25 mm
32 - @32 mm
40 - @40 mm
50 - 50 mm
63 - 363 mm

R: RRAEEEN
(HERAFR)

90 RIFENEEAE

%0’y 45 60" BISAERS

1TI2Z0R FETTIE
TR

@25 - 13 mm
@32 - 15 mm
@40 - 15 mm
@50 - 17 mm
@63 - 17 mm

20-6.1

SCR(L)
HEESAEEL

HER
Hah s

HSR(L)

RUEEY £ R EEEL
(RRARE)

HBR(L)
REEE AT B
(B AR )
HFR(L)

B £ R EEEL
(IRAERAE)

HUR(L)

JHIERYE £ T BEEL

HUK
SHERERERH

HN[]

BRAECEEED
prstii

HS []

iRhEsC BB
TEFFEL

HCF
SR HIEREL

HCS
SR HEREL

HCQ

SR
(R FERATE)



HUR(L) =5 — hBEAT Bil

SMERERRT EAYIC ottt
O HUR(L) @25 ~ 263 . . ﬁ
[D] E#EEREC (O) Hurw) —
: 7
IEER | e E{ J -
9 £\
‘ K ‘ 4-0L P 4-GL
J K
J
G1
F, N ‘ G2
‘ 1
- . - J4— <
i | i i o °®
4 ‘ | | ! !
E1 | | =
Lo P K /| ‘ ,,,,,,, _ i)
Fan —
WM g E2 ! Zw 2
| < | z
2 ‘ ol < i o <
m""i ‘ EE
o Wl O 1M o
8 :
| |
| < |
+ML ﬂ—r o]
o] ‘ ‘ ]
| #E0] | H O
T 1
s | mammznry
- P . . = = iR RN %
@ | W@ | WerE | BEeE it ) LA
(mm) (mm) (mm) BRI mm? | (3.5MPa) G1 G2
@25 @18 9 13 491/ 237 830 74 140
@32 @20 11 15 804 / 490 1720 81 160
@40 @224 11 15 1257 / 863 3020 86 160
250 @28 13 17 1963 / 1347 4710 96 180
263 @35 13 17 3117/ 2155 7540 114 200
LA ST A A1 A2 | A3 B c D1 D2 D3 | D4 E1 E2
@25 22 79 | 101 | (124) | 120 76 27 15 27 15 |019 | M10x15 | o8
232 26 89 | 115 | (140) | 137.2 | 85 30 17 31 17 |O222|Mi10x15 | o8
@40 26 94 | 120 | (148) | 1422 | 90 30 18 31 17 |022.5|M10x15 | @10
250 30 104 | 134 | (166) | 159.4 | 100 34 20 37 19 |0254 | M12x1.75 | @12
263 30 109 | 139 | (175) | 170.8 | 105 34 23 48 24 |[131.8| M16x20 | @15
TR F H I J K | L M N (N1 N2 [N3| O | P | R | S T
@25 | 10 | 9 | @46 | 52 | 40 |@68| PT18 | 50 | 8 | 17 | 46 | 95 | 25 | @15 |@18 | 13
@32 | 10 | 10 | @50 | 56 | 44 |@6.8| PT1/8 | 55 | 10 | 19 | 52 | 111 | 29 | @17 |@20 | 14
@40 | 10 | 10 | @54 | 63 | 48 |@9 | PT1/8 | 60 | 12 | 19 | 57 | 111 | 31 | @19 |@22.4] 15
@50 | 12 | 12 |@e6 | 72 | 57 |@9 | PT1/4 | 65 | 15 | 215 | 635| 127 | 38 | @21 |@28 | 16
@63 | 15 | 15 | @80 | 88 | 70 |@11 | PT1/4 | 75 | 17 | 22 | 68 | 159 | 48 | @27 |@35 | 18

20-6.2



© HUR(L) _

HUR(L) %%
SMEER R

MEm @A
= ®#nEai

— HEEA T B canmzem)

CHELIC PNEUMATIC

[D] E52ERES HUR(L) - MF —

4-0L
K
J
) G2
| ;
& = 1lait <
< ° ‘ ﬁ 19) e
E1/ || 5 | ‘ Pl
L = N ! J
\ N \ 2
i P E2 ! -
| . | x
i < i
‘ o < ‘ m| <
Lol e h ‘ i ©
S n i .
‘ ;u O-Ring »ﬁ* ‘ ‘ ‘ O-Ring
2] ‘ i 1 4] ‘
| - a
1 T
Ls_| mamimzgry
- - g L SRS RN
HE | W& | maTE | BETE =i N) ERRR
(mm) (mm) (mm) R / 5B mm?| (3.5MPa) G1 G2
@25 @18 9 13 491/237 830 74 140
232 @20 1 15 804/490 1720 81 160
@40 @22.4 1 15 1257/863 3020 86 160
@50 @28 13 17 1963/1347 4710 96 180
263 @35 13 17 3117/2155 7540 114 200
il ST A A1 A2 A3 B (o] D1 D2 D3 D4 E1 E2 E3
@25 22 79 101 124 120 76 22 15 27 15 |19 [M10x15 | @8 |M14x15
@32 26 89 115 140 | 137.2 85 25 17 31 17 |[D222 [M10x15 | @8 |[M16x1.5
40 26 94 120 148 | 1422 90 25 18 31 17 |0225 [M10x1.5 | @10 |M18x1.5
350 30 104 134 166 | 159.4 | 100 30 20 37 19 |[0254 [M12x1.75| @12 |M20x1.5
@63 30 109 139 175 | 1708 | 105 30 23 48 24 |[031.8 [M16x2.0 | @15 |M26x1.5
5 1& F G1 | G2 H 1 J K L | M | N1| O | ORing | P R S T
@25 10 74 140 9 | @46 | 52 | 40 |@68| 19 | 50 | 95 P7 25 | @15 | @18 13
232 10 81 160 | 10 | @50 | 56 | 44 | @68 | 21 | 55 | 11.1 P7 29 | @17 | @20 14
340 10 86 160 | 10 | @54 | 63 | 48 | @9 23 | 60 | 111 P9 31 | @19 | @224 15
@50 12 96 180 | 12 | @66 | 72 | 57 | @9 28 | 65 | 127 P9 38 | @21 | @28 16
763 15 | 114 | 200 | 15 | @80 | 88 | 70 | @11 | 32 | 75 | 159 P9 48 | @27 | @35 18

20-6.3

SCR(L)
HERBEH

HER
Hah s

HSR(L)

RUEEY £ R EEEL
(REAREE)

HBR(L)
REEE AT B
(MHEERER)
HFR(L)

B £ R EEEL
(IRAERAE)

HUR(L)

JHIRRES 5 R BREL

HUK
SHERERERH

HN[]

BRAECEEED
prstii

HS []

iRhEsC BB
TEFFEL

HCF
SR HIEREL

HCS
SR HEREL

HCQ

SR
(R FERATE)



HUR(L) z5 — HEBERAT B cesmzenmzs)
SMERERZ R~

RILOJZERERSS
PSS iR
O HUR(L) _ mcay O o
ﬁifﬁ?ﬁiﬂ, @ zlﬁg*&ii
a4 i & ) I
\ $M ’ {@Kj—\$ [
- N B
SO Y IEEEE | iSSP 3l = o -
= @ [ el L
® [ S ZPNi|
S e e 2 Sl | P N e 2
M 4-0L 0 M 4-0L
z
K s P
J K
| J Min.5
G1
F N1 ) ) G2
4 | ;
T i o
|| 110 i ) = ‘ 1lag L X
| | ° vl
E1 1 | |1 % | | 15
L _| [ | L N 0 )
i i
i E2 i ?
‘ T € : <
| = < | o <
g | @] o ih ‘ i ©
ML i M
4H.ﬂ i J_Lﬂ
7]} ‘ ‘ { o]
w0 [ a
1 | | -2
S_| EEERRERT
o, o mgo L RS ERTEFS :
gE | mE | WeGE | BEGE e ~N) St
(mm) (mm) (mm) - mm?| (3.5MPa) G1 G2
925 218 9 13 491/237 830 74 140
932 220 1 15 804/490 1720 81 160
240 @22.4 11 15 1257/863 3020 86 160
950 228 13 17 1963/1347 4710 % 180
263 235 13 17 3117/2155 7540 114 200
1KY ST A A1 A2 A3 B c D1 D2 | D3 | D4 E1 E2 | E3
925 22 79 101 | 124 | 120 76 22 15 27 15 |19 |M10x1.5 | @8 |M14x15
932 26 89 115 | 140 | 1372 | 85 25 17 31 17 |0222|M10x15 | @8 [M16x1.5
240 26 % 120 | 148 | 1422 | 90 25 18 31 17 | 0225|M10x1.5 | @10 | M18x1.5
250 30 104 | 134 | 166 | 1594 | 100 30 20 37 19 | 0254 |M12x1.75| @12 | M20x1.5
263 30 109 | 139 | 175 | 1708 | 105 30 23 48 24 | 0131.8|M16x2.0 | @15 | M26x1.5
5 1® F | G1 | G2 | H I J | K| L|M| N | O/ ORiIng| P | R/| S T
925 10 | 74 | 140 | 9 | @46 | 52 | 40 |@68| 19 | 50 | 95 P7 25 | @15 (@18 | 13
932 10 | 81 | 160 | 10 | @50 | 56 | 44 |@68| 21 | 55 | 11.1 P7 29 | @17 [@20 | 14
240 10 | 8 | 160 | 10 | @54 | 63 | 48 |@9 | 23 | 60 | 11.1 P9 31 | @19 |@224| 15
950 12 | 96 | 180 | 12 | @66 | 72 | 57 |@9 | 28 | 65 | 127 P9 38 | @21 |@28 | 16
263 15 | 114 | 200 | 15 | @80 | 88 | 70 |@11 | 32 | 75 | 159 P9 48 | @27 |@35 | 18

20-6.4




	1.油壓缸-HUR(L)-20-6.1.pdf
	2.油壓缸-HUR(L)-20-6.2.pdf
	3.油壓缸-HUR(L)-20-6.3.pdf
	4.油壓缸-HUR(L)-20-6.4.pdf

